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QUESTION 1

Which of the following access modes can be used by leaf nodes in a data center?
A. Single-node system deployment

B. ToR Deploying an SVF System

C. Deploying the M-Lag on the ToR

D. ToR Stack Deployment

Correct Answer: C

QUESTION 2

Which of the following are the functions of route redistribution?
A. Import routes from RIP into OSPF

B. Eliminate route loops

C. Import static route into dynamic routing protocols

D. Share routing information found by different routing protocols

Correct Answer: ACD

QUESTION 3

Which of the following statements are correct?

A. Both TE FRR and VPN FRR are used to protect tunnels, and therefore they can replace each other.
B. After VPN FRR is deployed, the end-to-end service convergence time is shorter than 1 second.

C. TE FRR Implements quick traffic switchovers if a PE becomes faulty.

D. VPN FRR implements quick traffic switchovers if a PE becomes faulty.

Correct Answer: B

QUESTION 4

VXLAN uses MAC in UDP encapsulation to extend Layer 2 networks and encapsulates Ethernet packets on IP packets.
When packets are transmitted on a touted network, the intermediate touting device does not need to learn inner MAC
addresses.

A. True
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B. False

Correct Answer: B

QUESTION 5

If Adjacency Segment + Node Segment is used together, the entire path can be forced to include an adjacency and load
balancing. This mode is called loose path.

A. True
B. False

Correct Answer: B
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